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QUESTION 1

Which MPLS design attribute can you use to provide Internet access to a major customer through a separate dedicated
VPN?

A. The Internet gateway router is connected as a PE router to the MPLS backbone.

B. The CE router supports VRF-Lite and the full BGP routing table.

C. The Internet gateway inserts the full Internet BGP routing table into the Internet access VPN.

D. The customer that needs the Internet access service is assigned to the same RTs as the Internet gateway.

Correct Answer: D

QUESTION 2

Which BGP attribute is used first when determining the best path?
A. origin

B. AS path

C. local preference

D. weight

Correct Answer: D

QUESTION 3

An engineer is implementing IGMP with SSM on a multicampus network that supports video streaming. Which task must
the engineer perform as part of the process?

A. Configure an RP that uses static assignments only.
B. Configure the network to use the PIM bsr-candidate.
C. Configure the network to use bidirectional PIM.

D. Configure the network to use IGMPv3.

Correct Answer: D

QUESTION 4
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Refer to the exhibit.

interface gigabitethernet1/0
xconnect 192.168.0.1 12 encapsulation mpls pw-class cisco

Which effect of this configuration is true?

A. It enables MPLS on the interface.

B. It creates a pseudowire class named cisco.

C. It enables AToM on interface gigabitethernet1/0.
D. It enables tagging for VLAN 12 on the interface.
Correct Answer: C

Reference: https://community.cisco.com/t5/service-providers-documents/configuration-example-atom-any-transport-over-
mpls-for-like-to/ta-p/3144810

QUESTION 5

Which protocol is used for communication between the PCE and PCC?
A. POP

B. CEF

C. PCEP

D. ICMP

Correct Answer: C
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